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PIPE AND CISTERN

[ uy vkSj gkSt ]
1. Two pipes A and B can fill a tank in 20 minutes

and 30 minutes respectively. If both pipe are
opened together, the time taken to fill the tank
is ?

nks ikbi A vkSj B ,d VSad dks Øe'k% 20 feuV vkSj 30

feuV esa Hkj ldrs gSaA ;fn nksuksa ikbi ,d lkFk [kksy fn, tk;sa

rks VSad dks Hkjus esa fdruk le; yxsxk ?
(a) 50 minutes (b) 12 minutes
(c) 25 minutes (d) 15 minutes

2. If 
1

3
 of a tank holds 80 litres of water, then the

quantity of water that of tank holds is ?

;fn fdlh VSad ds 
1

3
 Hkjs gksus ij mlesa 80 yhVj ikuh vkrk

gS] rks mlds vk/k Hkjs gksus ij mlesa fdruk ikuh gksxk ?
(a) 240 litres (b) 120 litres

(c) 
80

3
 litres (d) 100 litres

3. Three taps A, B and C can fill a tank in 12, 15
and 20 hours respectively. If A is open all the
time and B and C are open for one hour each
alternatively, the tank will be full in ?

rhu uy A, B vkSj C ,d Vadh dks Øe'k% 12, 15 vkSj 20

?kaVs esa Hkj ldrs gSA ;fn uy A iwjs le; [kqyk jgs rFkk B

vkSj C ckjh ls ,d&,d ?kaVs esa fy, [kksys tkrs gSa] rks Vadh

fdrus le; esa Hkj tk,xh ?

(a) 6 hours (b) 6½ hours
(c) 7 hours (d) 7½ hours

4. A tap can empty a tank in one hour. A second
cap can empty it in 30 minutes. If both the taps
operate simultaneously, how much time is
needed to empty the tank ?

,d uy fdlh VSad dks ,d ?kaVs esa [kkyh dj ldrk gS rFkk

nwljk uy bls 30 feuV esa [kkyh dj ldrk gSA ;fn nksuksa uyksa

dks ,d lkFk [kksy fn;k tk, rks VSad dks [kkyh gksus esa fdruk

le; yxsxk ?
(a) 20 minutes (b) 30 minutes
(c) 40 minutes (d) 45 minutes

5. A pipe of diameter 'd' can drain a certain water
tank in 40 minutes. The time taken by a pipe of
diameter '2d' for doing the same job in ?

,d 'd' O;kl okys ikbi dks VSad dks [kkyh djus esa 40 feuV
yxrs gSa] rks '2d' O;kl okys ikbi dks VSad dks [kkyh djus
esa fdruk le; yxsxk ?
(a) 5 minutes (b) 10 minutes
(c) 20 minutes (d) 80 minutes

6. A cistern can be filled with water by a pipe in 5
hours and it can be emptied by a second pipe in
4 hours. If both the pipes are opened when the
cistern is full, the time in which it will be emptied
the cistern ?

,d ikbi fdlh Vadh dks 5 ?kaVksa esa ikuh ls Hkj ldrk gS vkSj
Vadh dks dksbZ nwljk ikbi 4 ?kaVksa esa [kkyh dj ldrk gSA ;fn
Vadh iw.kZr;k Hkjh gqbZ gks vkSj nksuksa ikbiksa dks [kksy fn;k tk;s
rks Vadh fdrus ?kaVs esa [kkyh gks tk,xh ?
(a) 9 hours (b) 18 hours
(c) 20 hours (d) 20½ hours

7. A pipe can fill a tank with water in 3 hours. Due
to a leakage in bottom, it takes 3½ hours to fill
it. In what time the leak will empty the fully
filled tank ?

,d ikbi fdlh Vadh dks 3 ?kaVs esa ikuh ls Hkj ldrk gSA Vadh
esa ,d Nsn gksus ds dkj.k bldks Hkjus esa 3½ ?kaVs yxrs gSaA
Nsn gksus ds dkj.k iw.kZ Hkjh gqbZ Vadh fdrus le; esa [kkyh
gks tk,xh ?
(a) 12 hours (b) 21 hours
(c) 6½ hours (d) 10½ hours

8. Two pipes A and B can separately fill a cistern
in 60 minutes and 75 minutes respectively. There
is a third pipe in the bottom of the cistern to
empty it. If all the three pipes are simultaneously
opened, then the cistern is full in 50 minutes.
In how much time the third pipe alone can empty
the cistern ?

nks ikbi A vkSj B vyx&vyx fdlh Vadh dks Øe'k% 60

feuV vkSj 75 feuV esa Hkj ldrs gSaA Vadh dh ryh esa mldks
[kkyh djus ds fy, rhljk ikbi yxk gSA ;fn rhuksa ikbiksa dks
,d lkFk [kksy fn;k tk, rks Vadh 50 feuV esa Hkj tkrh gSA
vdsyk rhljk ikbi bl Vadh dks fdrus le; esa [kkyh djsxk?
(a) 110 minutes (b) 100 minutes
(c) 120 mintues (d) 90 minutes

9. A tap can fill a tank in 6 hours. After half the
tank is filled, three more similar taps are opened.
What is the total time taken to fill the tank
completely ?
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,d ikbi fdlh VSad dks 6 ?kaVs esa Hkj ldrk gSA vk/h Vadh
Hkjus ds ckn] blh izdkj ds rhu vkSj uy [kksy fn;s tkrs gSaA
Vadh dks iwjk Hkjus esa dqy fdruk le; yxsxk ?
(a) 4 hrs (b) 4 hrs 15 min
(c) 3 hrs 15 min (d) 3 hrs 45 min

10. One pipe can fill a tank three times as fast as
another pipe. If together the two pipes can fill
the tank in 36 minutes, the slower pipe alone
will be able to fill the tank in ?

,d ikbi fdlh VSad dks Hkjus esa nwljs ikbi dh vis{kk rhu
xquk T;knk rsth ls Hkjrh gSA ;fn nksuksa ikbi ,d lkFk fdlh
VSad dks 36 feuV esa Hkjrs gSa] rks /heh xfr ls Hkjus okyk ikbi
VSad dks vdsyk fdrus le; esa Hkjsxk ?
(a) 81 minutes (b) 108 minutes
(c) 144 minutes (d) 192 minutes

11. Two pipes can fill a cistern in 3 hours and 4
hours respectively and a waste pipe can empty it
in 2 hours. If all the three pipes are kept open,
then the cistern will be filled in ?

nks ikbi fdlh VSad dks Øe'k% 3 ?kaVs vkSj 4 ?kaVs esa Hkj ldrs
gSa vkSj ,d fudkl uy bls 2 ?kaVs esa [kkyh dj ldrk gSA ;fn
rhuksa ikbiksa dks ,d lkFk [kksy fn;k tk, rks VSad fdrus le;
esa Hkj tk,xk ?
(a) 5 hours (b) 8 hours
(c) 10 hours (d) 12 hours

12. Two pipes can fill a tank in 15 hours and 20
hours respectively, while the third pipes can
empty it in 30 hours. If all the pipes are opened
simultaneously, the empty tank will be filled in?

nks ikbi fdlh VSad dks Øe'k% 15 ?kaVs rFkk 20 ?kaVs esa Hkj
ldrs gSa] ;fn rhljk ikbi mls 30 ?kaVs esa [kkyh djrk gS] ;fn
rhuksa ikbiksa dks ,d lkFk [kksy fn;k tk, rks [kkyh VSad dks
Hkjus esa fdruk le; yxsxk ?
(a) 10 hours (b) 12 hours
(c) 15 hours (d) 15½ hours

13. Two pipes A and B can fill a cistern in 37½
minutes and 45 minutes respectively. Both pipes
are opened, the cistern will be filled just in half
an hour, if the pipe B is turned off after ?

nks ikbi fdlh Vadh dks Øe'k% 37½ feuV rFkk 45 feuV esa
Hkj ldrs gSaA ;fn nksuksa ikbiksa dks [kksy fn;k tkrk gS rks Vadh
dks Bhd vk/s ?kaVs esa Hkjus ds fy, B dks fdrus le; ckn
cUn djuk gksxk ?
(a) 15 minutes (b) 10 minutes
(c) 5 minutes (d) 9 minutes

14. A tap can fill a cistern in 8 hours and another
tap can empty it in 16 hours. If both the taps
are open, the time (in hours) taken to fill the
tank will be ?

,d uy fdlh Vadh dks 8 ?kaVs esa Hkj ldrk gS vkSj nwljk ikbi
18 ?kaVs esa [kkyh dj ldrk gSA ;fn nksuksa ikbiksa dks [kksy fn;k
tk,] rks VSad fdrus le; esa Hkj tk,xk (?kaVksa esa) ?

(a) 8 (b) 10
(c) 16 (d) 24

15. A cistern has two pipes. One can fill it with water
in 8 hours and other can empty it in 5 hours. In
how many hours will the cistern be emptied if
both the pipes are opened together when ¾ of
the cistern is already full of water ?

,d Vadh esa nks ikbi yxs gSA igyk ikbi Vadh dks 8 ?kaVs esa
ikuh ls Hkjrk gS vkSj nwljk ikbi 5 ?kaVs esa [kkyh djrk gSA ;fn
nksuksa ikbiksa dks ,d lkFk [kksy fn;k tk, rks igys ls ¾ ikuh
ls Hkjh gqbZ Vadh dks [kkyh djus esa fdruk le; yxsxk ?

(a) 13
1

3
 hours (b) 10 hours

(c) 6 hours (d) 3
1

3
 hours

16. ¾ part of the tank is full of water. When 30 litres
of water is taken out, the tank becomes empty.
The capacity of the tank is ?

fdlh VSad dk ¾ Hkkx ikuh ls Hkjk gqvk gS] tc mlesa ls 30

yhVj ikuh fudky fy;k tkrk gS rks VSad [kkyh gks tkrk gSA
Vadh dh /kfjrk crk,a ?
(a) 36 litres (b) 42 litres
(c) 40 litres (d) 38 litres

17. A tank is fitted with two taps. The first tap can
fill the tank completely in 45 minutes and the
second tap can empty the full tank in one hour.
If both the taps are opened alternately for one
minute, then in how many hours the empty tank
will be filled completely ?

,d VSad esa nks uy yxs gSa] igyk uy Vadh dks iw.kZr;k 45

feuV esa Hkjrk gS vkSj nwljk uy fdlh VSad dks 1 ?kaVs esa [kkyh
djrk gSA ;fn nksukssa ikbiksa dks ckjh&ckjh ls ,d&,d feuV ds
fy, [kksyk tkrk gS rks [kkyh Vadh dks iw.kZr;k Hkjus esa fdruk
le; yxsxk ?
(a) 2 hours 55 minutes (b) 3 hours 40 minutes
(c) 4 hours 48 minutes (d) 5 hours 53 minutes

18. A pipe can empty a tank in 40 minutes. A second
pipe with diameter twice as much as that of the
first is also attached with the tank to empty it.
The two pipe together can empty the tank in ?

,d ikbi fdlh Vadh dks 40 feuV esa [kkyh djrk gSA nwljk
ikbi ftldk O;kl igys ikbi ls nqxquk gS VSad dks [kkyh
djus ds fy, tksM+ fn;k tkrk gSA nksuksa ikbi ,d lkFk VSad
dks fdrus le; esa [kkyh djsaxs ?

(a) 8 minutes (b) 13
1

3
 minutes

(c) 30 minutes (d) 38 minutes
19. Two pipes can fill a tank with water in 15 and

12 hours respectively and a third pipe can empty
it in 4 hours. If the pipes be opened in order at
8, 9 and 11 a.m. respectively, the tank will be
emptied at ?
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nks ikbi fdlh VSad dks ikuh ls Hkjus esa Øe'k% 15 rFkk 12

?k.Vs esa ikuh ls Hkj ldrs gSa rFkk ,d rhljk ikbi bl Vadh
dks 4 ?k.Vs esa [kkyh dj ldrk gS ;fn bu ikbiksa dks Øe'k%
lqcg 8 cts] 9 cts vkSj 11 cts [kksyk tk,] rks VSad fdrus
le; ckn [kkyh gks tk,xk ?
(a)  11:40 a.m. (b) 12 : 40 a.m.
(c) 1 : 40 p.m. (d) 2 : 40 p.m.

20. A pump can fill a tank with water in 2 hours.

Because of a leak in the tank it was taking 2
1

3

hours to fill the tank. The leak can drain all the
water off the tank in ?

,d iai fdlh VSad dks ikuh ls 2 ?kaVs esa Hkjrk gSA VSad dk ikuh

fjlus ls bldks Hkjus esa 2
1

3
 ?kaVs yxrs gSaA Hkjh gqbZ Vadh] ikuh

fjlus ds dkj.k fdrus le; esa [kkyh gks tk,xh ?
(a) 8 hours (b) 7 hours

(c) 4
1

3
 hours (d) 14 hours

21. A tank can be filled by two pipes in 20 minutes
and 30 minutes respectively. When the tank was
empty, the two pipes were opened. After some
time, the first pipe was stopped and the tank
filled in 18 minutes. After how much time of the
start was the first pipe stopped ?

nks ikbi fdlh VSad dks Øe'k% 20 feuV rFkk 30 feuV esa
Hkjrs gSaA tc VSad [kkyh gks rks nksuksa ikbiksa dks [kksy fn;k tkrk
gSA dqN le; i'pkr~ igyk ikbi can dj fn;k tkrk gS rc
VSad 18 feuV esa Hkj tkrk gSA igyk ikbi [kqyus ds fdrus
le; ckn can dj fn;k tkrk gS ?
(a) 5 minutes (b) 8 minutes
(c) 10 minutes (d) 12 mintues

22. A pipe can fill a tank in 'x' hours and another
pipe can empty it in 'y' (y > x) hours. If both the
pipes are open. In how many hours will the tank
be filled ?

igyk ikbi fdlh VSad dks 'x' ?kaVs esa Hkjrk gS vkSj nwljk ikbi
'y' (y > x) ?kaVs esa [kkyh djrk gSA ;fn nksuksa ikbiksa dks [kksy
fn;k tkrk gS rc fdrus le; ckn VSad Hkj tk,xk ?
(a) (x – y) hours (b) (y – x) hours

(c) 
xy

x y
 hours (d) 

xy

y x
 hours

23. 12 pumps working 6 hours a day can empty a
completely filled reservoir in 15 days. How many
such pumps working 9 hours a day will empty
the same reservoir in 12 days ?

12 iai izfrfnu 6 ?kaVs dke djrs gq, ,d iwjs Hkjs gq, tyk'k;
dks 15 fnu esa [kkyh dj nsrs gSaA crk,a fdrus iEi 9 ?kaVs
izfrfnu dke djrs gq, mlh tyk'k; dks 12 fnu esa [kkyh dj
nsaxs ?

(a) 15 (b) 9
(c) 10 (d) 12

24. A tap takes 36 hours extra to fill a tank due to a
leakage equivalent to half of its inflow. The inflow
can fill the tank in how many hours ?

Vadh dh ryh esa Nsn gksus ds dkj.k ,d uy fdlh Vadh dks
Hkjus esa 36 ?kaVs dk vfrfjDr le; ysrk gS] tcfd Nsn dh
{kerk uy ls vk/h gS crk,a uy }kjk Vadh dks Hkjus dk lgh
le; fdruk gS ?
(a) 36 hours (b) 24 hours
(c) 30 hours (d) 18 hours

25. A tank can be filled with water by two pipes, A
and B together in 36 minutes. If the pipe B was
stopped after 30 minutes, the tank is filled in 40
minutes. The pipe B can alone fill the tank in ?

nks ikbi fdlh Vadh dks ikuh ls Hkjrs gSaA A vkSj B ,d lkFk
feydj 36 feuV esa Hkjrs gSa] ;fn 30 feuV ckn ikbi B dks
can dj fn;k tkrk gS rc Vadh 40 feuV esa Hkjrh gSA ikbi
B vdsyk bl VSad dks fdrus le; esa Hkjsxk ?
(a) 45 minutes (b) 60 minutes
(c) 75 minutes (d) 90 minutes

26. Two pipes A and B can fill a water tank in 20
and 24 minutes respectively and a third pipe C
can empty at the rate of 3 gallons per minute. If
A, B and C are opened together to fill the tank
in 15 minutes, find the capacity of tank ?

nks ikbi A vkSj B ,d ikuh dh Vadh dks Øe'k% 20 vkSj 24

feuV esa Hkjrs gSa vkSj rhljk ikbi C Vadh dks 3 xSyu@feuV
ds fglkc ls [kkyh djrk gSA ;fn A, B vkSj C dks ,d lkFk
[kksy fn;k tkrk gS rks VSad 15 feuV esa Hkj tkrk gSA VSad dh
{kerk crk,a ?
(a) 180 (b) 150
(c) 120 (d) 60

27. Three pipes P, Q and R can separately fill a
cistern in 4, 8 and 12 hours respectively. Another
pipe S can empty the completely filled cistern in
10 hours. Which of the following arrangements
will fill the empty cistern in less time than others
?

rhu ikbi P, Q vkSj R vyx&vyx ,d Vadh dks Øe'k% 4,

8 vkSj 12 ?kaVs esa Hkj ldrs gSaA ,d vU; [kkyh djus okyk
ikbi S Hkjh gqbZ Vadh dks 10 ?kaVs esa [kkyh dj ldrk gSA
crkb, fuEu esa ls uyksa dk dkSu&lk Øe Vadh dks vU; dh
vis{kk tYnh Hkj ldrk gS ?
(a) Q alone is open (b) P, R and S are open
(c) P and S are open (d) P, Q and S are open

28. A tank has a leak which would empty the
completely filled tank in 10 hours. If the tank is
full of water and a tap is opened which admits 4
litres of water per minutes in the tank, the leak
takes 15 hours to empty the tank. How many
litres of water does the tank hold ?
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,d Vadh esa Nsn gS tks Hkjh gqbZ Vadh dks 10 ?kaVs esa [kkyh dj

ldrk gSA ;fn VSad iwjk Hkjk gqvk gks rks ,d Hkjus okyk uy

tks Vadh esa 4 yhVj ikuh izfr feuV Mkyrk gS] [kksy fn;k tkrk

gS rks Nsn dks Vadh [kkyh djus esa 15 ?kaVs dk le; yxrk gSA

VSad dh {kerk crk,a ?
(a) 2400 litres (b) 4500 litres
(c) 1200 litres (d) 7200 litres

29. An empty tank can be filled by pipe A in 4 hours
and by pipe B in 6 hours. If the two pipes are
opened for 1 hour each alternately with first
opening pipe A, then the tank will be filled in ?

ikbi A ,d [kkyh VSad dks 4 ?kaVs esa vkSj ikbi B 6 ?kaVs esa

Hkjrk gSA ;fn nksuksa ikbiksa dks ckjh&ckjh ls ,d&,d ?kaVs ds

fy, [kksyk tkrk gS vkSj ikbi A }kjk 'kq: fd;k tkrk gSA rc

VSad fdrus le; esa Hkjsxk ?

(a) 1
3

4
 hours (b) 2

3

5
 hours

(c) 4
2

3
 hours (d) 5

1

2
 hours

30. A boy and girl together fill a cistern with water.
The boy pours 4 litres of water every 3 minutes
and the girl pours 3 litres water every 4 minutes.
How much time will it take to fill 100 litres of
water in the cistern ?

,d yM+dk vkSj ,d yM+dh lkFk feydj fdlh Vadh dks

ikuh ls Hkjrs gSaA yM+dk 4 yhVj ikuh izR;sd 3 feuV esa Hkjrk

gS vkSj yM+dh 3 yhVj ikuh izR;sd 4 feuV esa Hkjrh gSA fdrus

le; esa 100 yhVj ikuh Vadh esa Hkj tk,xk ?
(a) 36 minutes (b) 42 minutes
(c) 48 minutes (d) 44 minutes

31. Two pipes can fill a cistern separately in 10 hours
and 15 hours. They can together fill the cistern
in ?

nks ikbi fdlh Vadh dks vyx&vyx Øe'k% 10 ?kaVs vkSj 15

?kaVsa esa Hkjrs gSaA nksuksa ikbi ,d lkFk feydj Vadh dks fdrus

le; esa Hkjsaxs ?
(a) 6 hours (b) 7 hours
(c) 8 hours (d) 9 hours

32. Three pipes A, B and C can fill a cistern in 6
hours. After working at it together for 2 hours,
C is closed and A and B fill it in 7 hours more.
The time taken by C alone to fill the cistern is ?

rhu ikbi A, B vkSj C ,d Vadh dks 6 ?kaVs esa Hkj ldrs gSaA

,d lkFk feydj dke djus ds 2 ?kaVs ds ckn C dks can dj

fn;k tk,] rc A vkSj B dks 7 ?kaVs dk vf/d le; yxrk

gSA C vdsyk ml Vadh dks fdrus le; esa Hkjsxk ?
(a) 14 hours (b) 15 hours
(c) 16 hours (d) 17 hours

33. Three taps A, B and C together can fill an empty
cistern in 10 minutes. The tap A alone can fill it
in 30 minutes and the tap B alone in 40 minutes.
How long will the tap C alone take to fill it ?

rhu uy A, B vkSj C ,d lkFk feydj fdlh [kkyh Vadh dks
10 feuV esa Hkj ldrs gSaA uy A vdsyk 30 feuV esa vkSj uy
B vdsyk 40 feuV esa Hkj ldrs gSaA crkb, fdrus le; esa
uy C vdsyk Vadh dks Hkjsxk ?
(a) 16 minutes (b) 24 minutes
(c) 32 minutes (d) 40 minutes

34. One tap can fill a water tank in 40 minutes and
another tap can make the filled tank empty in
60 minutes. If both the taps are open, in how
many hours will the empty tank be filled ?

,d uy fdlh Vadh dks ikuh ls 40 feuV esa Hkjrk gS vkSj ,d
vU; uy Hkjh Vadh dks 60 feuV esa [kkyh djrk gSA ;fn nksuksa
uyksa dks [kksy fn;k tkrk gS rc [kkyh Vadh dks Hkjus esa fdruk
le; yxsxk ?
(a) 2 hours (b) 2.5 hours
(c) 3 hours (d) 3.5 hours

35. A tap can fill an empty tank in 12 hours and
another tap can empty half the tank in 10 hours.
If both the taps are opened simultaneously, how
long would it take for the empty tank to be filled
to half its capacity ?

,d uy [kkyh Vadh dks 12 ?kaVs esa Hkjrk gS rFkk vU; uy
vk/h Vadh dks 10 ?kaVs esa [kkyh djrk gSA ;fn nksuksa uyksa dks
,d lkFk [kksy fn;k tkrk gSA [kkyh Vadh ds vk/s Hkkx dks
Hkjus esa yxk le; D;k gksxk ?
(a) 10 hrs (b) 30 hrs
(c) 15 hrs (d) 20 hrs

36. A tap can fill a cistern in 40 minutes and a
second tap can empty the filled cistern in 60
minutes. By mistake with out closing the second
tap, the first tap was opened. In how many
minutes will the empty cistern be filled. ?

,d uy fdlh Vadh dks 40 feuV esa Hkjrk gS nwljk uy 60

feuV esa [kkyh dj nsrk gSA xyrh ls nwljs uy dks can fd,
fcuk igyk uy [kksy fn;k tkrk gSA crk,a fdrus le; esa
[kkyh Vadh dks Hkjk tk ldrk gS ?
(a) 72 (b) 84
(c) 108 (d) 120

37. If 90% of A = 30% of B and B = 2x% of A, then
the value of x is ?

;fn A dk 90% = B dk 30% vkSj B = A dk 2x% gS] rks
x dk eku Kkr djsa ?
(a) 450 (b) 400
(c) 300 (d) 150

38. One third of 1206 is what percent of 134 ?

1206 dj ,d&frgkbZ] 134 dk fdrus izfr'kr gS  ?
(a) 100% (b) 150%
(c) 200% (d) 300%
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39. If 120% of a is equal to 80% of b, then 
b a

b a




 is

equal to ?

;fn a dk 120%, b ds 80% ds cjkcj gS] rks 
b a

b a




 fdlds

cjkcj gS ?
(a) 5 (b) 6
(c) 7 (d) 8

40. If 20% of (A + B) = 50% of B, then value of 
2A B

2A B




is ?

;fn (A + B) dk 20% = B dk 50% gS] rks 
2A B

2A B




 dk

eku D;k gksxk ?

(a) 
1

2
(b) 

1

3

(c) 
1

4
(d) 1

41. If 40% of (A + B) = 60% of (A – B) then 
2A 3B

A B




is ?

;fn (A + B) dk 40% = (A – B) dk 60% gS] rks 
2A 3B

A B





fdlds cjkcj gksxk ?

(a) 
7

6
(b) 

6

7

(c) 
5

6
(d) 

6

5

42. What percent of 3.5 kg. is 72 gms. ?

3.6 fdyksxzke dk fdruk izfr'kr 72 xzke gS ?
(a) 32% (b) 22% (c) 12% ( d )
2%

43. If 125% of x is 100, then x is ?

;fn x dk 125%, 100 gS] rks x = ?

(a) 80 (b) 180
(c) 400 (d) 125

44. If 50% of (P – Q) = 30% of (P + Q) and Q = x% of
P, then the value of x is ?

(P – Q) dk 5% = (P + Q) dk 30% rFkk Q = P dk x%

gS] rks x dk eku Kkr djsa ?
(a) 30 (b) 25
(c) 20 (d) 50

45. 25% of 120 + 40% of 380 = ? of 637 ?

120 dk 25% + 380 dk 40% = ? 637 dk fdruk Hkkx
gksxk ?

(a) 
2

7
(b) 

1

7

(c) 
4

7
(d) 

3

7

46. What is 27% of 36% of 
5

9
 of 4500 ?

4500 ds 
5

9
 ds 36% dk 27% D;k gS ?

(a) 239 (b) 241
(c) 243 (d) 245

47. 1% of 1% of 25% of 1000 is ?

1000 ds 25% ds 1% dk 1% fdruk gksxk ?

(a) 0.025 (b) 0.0025
(c) 0.25 (d) 0.000025

48. If 8% of x = 4% of y, then 20% of x is ?

;fn x dk 8% = y dk 4% gS] rks x dk 20% D;k gksxk ?
(a) 10% of y (b) 16% of y
(c) 40% of y (d) 80% of y

49. If 60% of A = 30% of B, B = 40% of C and C = x%
of A, then value of x is ?

;fn A dk 60% = B dk 30% gS] B = C dk 40% vkSj C
= A dk x% gS] rks x dk eku gS ?
(a) 800 (b) 200
(c) 300 (d) 500

50. If 20% of A = 30% of B = 
1

6
 of C, then A : B : C

is?

;fn A dk 20% = B dk 30% = C dk 
1

6
 gS] rks A : B :

C = ?
(a) 2 : 3 : 16 (b) 3 : 2 : 16
(c) 10 : 15 : 18 (d) 15 : 10 : 18

51. If 50% of x = 30% y, then x : y is ?

;fn x dk 50% = 30% y rks x : y D;k gksxk ?

(a) 2 : 3 (b) 3 : 2
(c) 5 : 3 (d) 3 : 5

52. If 80% of a number added to 80 gives the result
as the number itself, then the number is ?

;fn fdlh la[;k ds 80% esa 80 tksM+k tkrk gS] rks izkIr
ifj.kke la[;k ds cjkcj gS] rks la[;k D;k gS ?
(a) 200 (b) 300
(c) 400 (d) 500

53. A person who spends 66
2

6
% of his income is

able to save Rs. 1200 per month. His monthly
expenses (in Rs.) is ?

,d O;fDr viuh vk; dk 66
2

6
% [kpZ djds :i;s 1200

efld cpr djrk gS] rks mldk ekfld [kpZ (:i;s esa) D;k
gS  ?
(a) 1,200 (b) 2,400
(c) 3,000 (d) 3,200

54. The income of C is 20% more than B's ad the
income of B is 25% more than A's. Find by how
much percent is C's income more than A's ?
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C dh vk;] B ls 20% vf/d gS vkSj B dh vk;] A ls
25% vfèkd gS] rks C dh vk;] A ls fdrus izfr'kr vf/d
gS ?
(a) 150% (b) 50%
(c) 25% (d) 35%

55. If A exceeds B by 40%, B is less than C by 20%,
t h e n
A : C is ?

;fn A, B ls 40% vf/d gS vkSj B, C ls 20% de gS] rks
A : C D;k gksxk ?
(a) 28 : 25 (b) 26 : 25
(c) 14 : 27 (d) 27 : 14

56. In a school 70% of the students are girls. The
number of boys are 510. Then the total number
of students in the school is ?

,d fo|ky; esa 70% fo|kFkhZ yM+fd;k¡ gSA yM+dksa dh la[;k
510 gS] rks Ldwy esa dqy fdrus fo|kFkhZ gSa ?
(a) 850 (b) 1700
(c) 1830 (d) 1900

57. If 60% of the students by a school are boys and
the number of girls is 972, how many boys are
there in the school ?

;fn fo|ky; esa 60% Nk=k yM+ds gS rFkk yM+fd;ksa dh la[;k
972 gS] rks fo|ky; esa fdrus yM+ds gSa ?
(a) 1258 (b) 1458
(c) 1324 (d) 1624

58. When 60 is subtracted from 60% of a number,
the result is 60. The number is ?

fdlh la[;k ds 60% esa ls 60 ?kVkus ij ifj.kke 60 vkrk
gS] rks la[;k D;k gS ?
(a) 120 (b) 150
(c) 180 (d) 200

59. When 75% of a number is added to 75, the result
is the same number. Find the number ?

fdlh la[;k ds 75% esa tc 75 tksM+k tkrk gS] ifj.kke ogh
la[;k vkrh gSA rks la[;k Kkr djsa ?
(a) 225 (b) 270
(c) 300 (d) 325

60. The difference of two numbers is 20% of the larger
number. If the smaller number is 20. The larger
number is ?

nks la[;kvksa dk varj cM+h la[;k dk 20% gSA ;fn NksVh la[;k
20 gS] rks cM+h la[;k Kkr djsa ?
(a) 25 (b) 45
(c) 50 (d) 80

Answer Sheet

1. (c) 2. (d) 3. (a) 4. (d) 5. (a) 6. (c) 7. (c) 8. (d) 9. (a) 10. (b)
11. (a) 12. (b) 13. (d) 14. (d) 15. (b) 16. (a) 17. (c) 18. (b) 19. (a) 20. (a)

21. (b) 22. (b) 23. (b) 24. (d) 25. (a) 26. (a) 27. (a) 28. (a) 29. (c) 30. (b)
31. (c) 32. (d) 33. (d) 34. (b) 35. (d) 36. (b) 37. (d) 38. (d) 39. (a) 40. (a)
41. (a) 42. (d) 43. (a) 44. (b) 45. (a) 46. (c) 47. (a) 48. (a) 49. (d) 50. (d)
51. (d) 52. (c) 53. (b) 54. (b) 55. (a) 56. (b) 57. (b) 58. (d) 59. (c) 60. (a)


